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%HUJDEXQJ�GDODP�VHEXDK�NHORPSRN�VRVLDO�LWX�GDSDW�WHUEHQWXN�DWDV�GRURQJDQ�VHQGLUL�
DWDX�VHFDUD�NHEHWXODQ��.HORPSRN�\DQJ�WHUGLUL�GDUL�KLPSXQDQ�DWDX�NHVDWXDQ�PDQXVLD�
\DQJ�KLGXS�EHUVDPD�GHQJDQ�PHOLEDWNDQ�OHELK�GDUL�VDWX�RUDQJ��%DLN�DQWDUD�LQGLYLGX�
GHQJDQ� LQGLYLGX�� LQGLYLGX� GHQJDQ� NHORPSRN�� GDQ� NHORPSRN� GHQJDQ� NHORPSRN��
3HQHPSDWDQ� LQGLYLGX� SDGD� NHORPSRN� PDPSX� PHPEHULNDQ� GRURQJDQ�GRURQJDQ�
WHUWHQWX��VHSHUWL�DGD�ZDZDVDQ�\DQJ�EDUX��VNLOO GDQ�VHEDJDLQ\D��7HQWXQ\D�LQL�GDSDW�
WHUMDGL� NHWLND� LQGLYLGX� PHQHPXNDQ� DWDX� EHULQWHUDNVL� GHQJDQ� LQGLYLGX� DWDX�
NHORPSRN�\DQJ� WHSDW��\DQJ�PHPLOLNL�NHSULEDGLDQ� WHUWHQWX�XQWXN�PHPEHULNDQ�KDO�
VHSHUWL� ZDZDVDQ� DWDX� VNLOO WHUVHEXW� NDUHQD� PDVLQJ�PDVLQJ� LQGLYLGX� PHPLOLNL�
NHSULEDGLDQ� WHUWHQWX�� 6DODK� VDWX� WHV� SHQXQMDQJ� SHQHPSDWDQ� NHORPSRN� \DLWX� WHV
NHSULEDGLDQ��7HV�NHSULEDGLDQ�\DQJ�GLODNXNDQ�PHQJJXQDNDQ�PHWRGH�0\HUV�%ULJJV�
7\SH� ,QGLFDWRU� �0%7,��� 3HPEHQWXNDQ� NHORPSRN� GLJDEXQJ� PHQMDGL� NHORPSRN�
NDPDU�DVUDPD�\DQJ�GLODNXNDQ�ROHK�8QLYHUVLWDV�7HONRP�NDUHQD�VHWLDS�PDKDVLVZD�
ZDMLE���WDKXQ�SHUWDPD�XQWXN�WLQJJDO�GL�DVUDPD��0DND�GDUL�LWX�WXMXDQ�SHQHOLWLDQ�LQL�
PHPEXDW� DSOLNDVL� WHV� NHSULEDGLDQ� NHPXGLDQ� PDKDVLVZD� GDSDW� PHOLKDW� KDVLO� WHV�
NHSULEDGLDQ� WHUVHEXW�� 3DGD� SHUDQFDQJDQ� DSOLNDVL� PHQJJXQDNDQ� EDKDVD�
SHPRJUDPDQ� +70/�� 3+3�� GDQ� GDWDEDVH� 0\64/� GDQ� SHQJXMLDQ� VLVWHP� \DQJ�
GLODNXNDQ� GHQJDQ� EODFNER[� WHVWLQJ�� +DVLO� SHQHOLWLDQ� LQL� EHUXSD� DSOLNDVL� WHV�
NHSULEDGLDQ�PHQJJXQDNDQ�0\HUV�%ULJJV�7\SH�,QGLFDWRU��0%7,��EHUEDVLV�ZHEVLWH
\DQJ� GDSDW� PHPEDQWX� GDODP� SHQJHORPSRNDQ� NDPDU� DVUDPD� SDGD� 8QLYHUVLWDV�
7HONRP�EHUGDVDUNDQ�NHSULEDGLDQ�
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